Montageanleitung BW5053

4
/ Kappe
I

~.[

1<

Werbetafel

e~ . DIN 933/M8x100

D 0
Klemmverbinder

«L o Unterlegscheiben
DIN 125/M8

J\ Abstandhalter

DIN 915/M8x20 g[t)[?trzizhr

Buigel tief Bugel hoch \

Abdeckkappen

unteres
Stitzrohr

Mutter Grundrahmen

DIN 934/M8

Kippschutzrohr

<r
«‘

Federstecker

Bockrolle

Unterlegscheibe
DIN 125/M10

Unterlegscheibe

DIN 125/M8

Zahnscheibe
Mutter

DIN 934/M10
DIN 933/M8x20



Montageanleitung BW5156

<
I~ ,
q %
Werbetafel
e~ ,
q %

Klemmverbinder\ﬂ
——
DIN 915/M8x20 \Q

Fahrradstéanderbiigeln

BW5053: 3 Stuck (Montage: tief-hoch-tief)
BW5156: 6 Stiick (Montage: tief-hoch-tief-hoch-tief-hoch)

Kappe
o

DIN 933/M8x110

Unterlegscheiben
DIN 125/M8

Abstandhalter
oberes

Stitzrohr
i

unteres
Stutzrohr

Grundrahmen

Unterlegscheibe /’0

DIN 125/M10 (M8)

Mutter
DIN 934/M10 (M8) SchloRschraube M10 x 25/(M8x25) ©

DIN 933/M8x25

Bockrolle

Unterlegscheibe
DIN 125/M8 Zahnscheibe


dybowski
Rechteck




